Multiply by Positive Powers of Ten (A)

Find each product.

8,6 X 1.000 = 51x100 =
7,26 X 10 = 4,4 x 1.000 =
9,2663 X 1.000 = 4,2 x 1.000 =
8,3155 x 10 = 7x10=

7,25 x 1.000 = 3,1 x1.000 =
8,7692 X 100 = 1,724 x 1.000 =
9,669 X 1.000 = 7,179 x 100 =
4,869 X 100 = 9,69 X 100 =
6,933 X 10 = 3,9%x10=
9,2727 X 10 = 9,7 X 1.000 =
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Multiply by Positive Powers of Ten (A) Answers

Find each product.

8,6 X 1.000 = 8.600 51x100=510

7,26 X 10 =72,6 4,4 x 1.000 = 4.400
9,2663 X 1.000 =9.266,3 4,2 x 1.000 = 4.200
8,3155 x 10 = 83,155 7x10=70

7,25 x 1.000 = 7.250 3,1 x1.000=3.100
8,7692 x 100 = 876,92 1,724 x 1.000 = 1.724
9,669 X 1.000 = 9.669 7,179 x 100 =717,9
4,869 x 100 = 486,9 9,69 x 100 =969
6,933 X 10 = 69,33 3,9%x10=39

9,2727 X 10 = 92,727 9,7 x1.000 =9.700
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